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QUESTION 1

What is a characteristic of Virtual SAN?

A. It supports Virtual Machine Storage Policies.

B. It supports multiple Virtual SAN clusters for each host.

C. It supports native snapshots and SE Sparse disks.

D. It supports storage attached through USB, Fibre Channel, or iSCSI.

Correct Answer: A

QUESTION 2
-- Exhibit -
‘& New Virtual Machine ?)
1 Select creation type Gtorage Senvice Class: | None - 0)
»  1a Selecta creation type The following datastores are accessible from the destination résource that you selected. Select the destination datastare for the
2 Edit settings virtual machine configuration files and all of the viriual disks.
v 223 Select a name and folder Mame Capsacity Brovisioned Fres Type Siorege DRS
+  2b Selecta compute resource [ vsanDatastore 59.25 GB 0.008 50.25 GB vsan
e Salad ataas [ Shared Storage 36.75 GH 972.00 MB 3580 GB WMFS 5
C o slorag
[ localhostl 200 GB 623.00 MB 239GB VMFS 5

2d Select compatibility

2e Selecta guest 0S

2f Customize hardware

3 Ready to complete

-- Exhibit -A vSphere administrator created a Virtual SAN and a relevant virtual machine Storage Policy. The
administrator is unable to select this virtual machine Storage Policy when creating a new virtual machine.

Based on the exhibit, why is the administrator unable to select this virtual machine Storage Policy?
A. The administrator did not enable the virtual machine Storage Policy per compute resource.

B. The ESXi Host license does not support virtual machine Storage Policies.

C. The vCenter Server license does not support virtual machine Storage Policies.

D. The administrator did not create a storage policy for the datastore selected for the virtual machine.

Correct Answer: A

QUESTION 3
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Which steps should an administrator take to migrate existing ESXi 5.x virtual machines to a storage over-subscription
model?

A. Right-click the .vmdk file, and click Deflate.

B. Right-click the .vmdk file, and click Compress.

C. Right-click the virtual machine, click Migrate, select the same datastore, and select Thin Provision.
D. Right-click the virtual machine, click Migrate, select a different datastore, and select Thin Provision.

Correct Answer: D

QUESTION 4

A server administrator reports that a virtual machine has displayed the following message twice in the past 12 months:
No boot device found

Which virtual machine boot option should the administrator configure to resolve this issue?

A. Failed Boot Recovery

B. Force BIOS Setup

C. Boot Delay

D. Network Boot Retry

Correct Answer: A

QUESTION 5

A vSphere administrator needs to increase the capacity of an existing Storage Distributed Resource Scheduler (SDRS)
datastore cluster. The storage administrator has provisioned two new NFS datastores to be added to the cluster.

The vSphere administrator receives an error message, preventing the administrator from adding the newly provisioned
datastores to the cluster.

What is the likely reason that the action failed?

A. There are virtual machines running on the datastores being added to the cluster.

B. The datastores in the SDRS cluster are VMFS datastores.

C. The datastores in the existing cluster have hardware acceleration enabled and the new datastores do not.

D. The SDRS cluster has not been placed into maintenance mode.
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Correct Answer: B
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